
IB Mathematics HL 12
Break Homework

1. In the diagram below, AD is perpendicular to BC. [6 marks]
CD = 4, BD = 2 and AD = 3. CÂD = α and BÂD = β.
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3. [Maximum mark:  6] 

 In the diagram below, AD is perpendicular to BC.  
 CD 4 , BD 2  and AD 3.  CAD� α  and B DA� β .
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 Find the exact value of cos ( )α β .
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Find the exact value of cos(α − β).

2. (a) Show that
sin2θ

1 + cos2θ
= tanθ. [2 marks]

(b) Hence find the value of cot
π
8

in the form [3 marks]

a+ b
√

2, where a,b ∈Z.

3. Given that
π
2
< α < π and cosα = −3

4
, find the value [4 marks]

of sin2α.
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